

PO No. 4500103806

Date: 08/22/2018 Page 1 of 10

Ship To:

MWWD-WASTEWATER COLLECTION ACCOUNT CLERK MS 902 9150 TOPAZ WAY SAN DIEGO CA 92123-1119 Bill To:

PUD ACCOUNTS PAYABLE 9192 TOPAZ WAY SAN DIEGO CA 92123 Billing Contact: Darryl Aubrey

Telephone:

E-Mail: DAUBREY@SANDIEGO.GOV

Vendor: West Coast Safety Supply Company

1042 N El Camino Real Ste B-228 Encinitas CA 92024-1322

Terms:

within 30 days Due net

**Delivery Terms:** FOB Destination

Buyer: Michael Warner Telephone: 619-236-6154

Vendor ID: 10003426 Telephone:800-804-7772 E-Mail: sales@westcoastsafetysupply.c E-Mail: MWarner@sandiego.gov

Line #	Item ID/Description Serv # Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U	oM Exte	ended Price
1	Line 2, 6" Proofing skids	06/30/2019	5 EA	126.00 E <i>F</i>	USD	630.00
	FY19 PO Line 2, 6" Proofing skids CONTRACT #4600002524 CONTACT LARRY COOPER 858-614-5774					
	Non-Deductible Tax				USD	48.83
2	Line 3, 7" Proofing Skids:	06/30/2019	5 EA	127.00 E <i>F</i>	USD	635.00
	Non-Deductible Tax				USD	49.22
3	Line 4, 7 1/2" Proofing Skids:	06/30/2019	5 EA	127.00 EA	USD	635.00
	Non-Deductible Tax				USD	49.22
4	Line 5, 8" Proofing Skids:	06/30/2019	5 EA	127.00 EA	USD	635.00
	Non-Deductible Tax				USD	49.22
5	Line 6, 10" Proofing Skids:	06/30/2019	5 EA	133.00 EA	USD	665.00
	Non-Deductible Tax				USD	51.54
6	Line 7, 12" Proofing Skids:	06/30/2019	5 EA	135.00 EA	USD	675.00
	Non-Deductible Tax				USD	52.32
7	Line 8, 15" Proofing Sidks:	06/30/2019	5 EA	132.00 E <i>A</i>	USD	660.00
The Term	hs and Conditions of this Purchase Order are available at h	nttp://www.sandiego.go	ov/purchasing/vendor	SEE L	AST	PAGE
	IMPORTANT!					ΓAL

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to Billing Contact person at Bill-To address listed above



PO No. 4500103806

**Date:** 08/22/2018

Page 2 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc L Conv Factor		ended Price
	Non-Deductible Tax				USD	51.15
8	Line 9, 18" Proofing skids:	06/30/2019	5 EA	135.00 E	A USD	675.00
	Non-Deductible Tax				USD	52.32
9	Line 10, 20" Proofing Skids:	06/30/2019	5 EA	138.00 E	A USD	690.00
	Non-Deductible Tax				USD	53.48
10	Line 11, Aluminum Top manhole roller: li	06/30/2019	5 EA	130.00 E	A USD	650.00
	Non-Deductible Tax				USD	50.38
11	Line 12, Sewer quality mill certificate	06/30/2019	5 EA	5.71 E	A USD	28.55
	Non-Deductible Tax				USD	2.21
12	Line 13, 1.5" Round wire corkscrew: 5/16	06/30/2019	5 EA	13.66 E	A USD	68.30
	Non-Deductible Tax				USD	5.29
13	Line 14, 2" round wire corkscrew: 5/16"R	06/30/2019	5 EA	13.66 E	A USD	68.30
	Non-Deductible Tax				USD	5.29
14	Line 15, 2.5" Round wire corkscrews: 5/1	06/30/2019	5 EA	13.66 E	A USD	68.30
	Non-Deductible Tax				USD	5.29
15	Line 16, 3" Round wire corkscrews: 5/16"	06/30/2019	5 EA	13.66 E	A USD	68.30
	Non-Deductible Tax				USD	5.29
16	Line 17, 4" round wire corkscrews: 5/16"	06/30/2019	5 EA	13.66 E	A USD	68.30
	Non-Deductible Tax				USD	5.29
17	Line 18, 6" round wire corkscrews: 5/16"	06/30/2019	5 EA	20.00 E	A USD	100.00
	Non-Deductible Tax				USD	7.75
The Term	ns and Conditions of this Purchase Order are available at h	nttp://www.sandiego.go	ov/purchasing/vendor	SEE L	AST	PAGE
o encur	IMPORTANT!	ments and invoices:	all invoices must be		R TO	
irected 1	re prompt payments, PO # must appear on all shipr to <i>Billing</i> Contact person at <i>Bill-To</i> address listed ab	ove	an invoices must be			



PO No. 4500103806

**Date:** 08/22/2018

Page 3 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
18	Line 19, 3" double round wire corkscrews	06/30/2019	5 EA	24.00 EA	USD 120.0
	Non-Deductible Tax				USD 9.3
19	Line 20, 4" double round wire corkscrews	06/30/2019	5 EA	27.00 EA	USD 135.0
	Non-Deductible Tax				USD 10.4
20	Line 21, 2" square bar sorkscrew blade o	06/30/2019	5 EA	40.00 EA	USD 200.0
	Non-Deductible Tax				USD 15.5
21	Line 22, 3" square bar corkscrw blade on	06/30/2019	5 EA	42.00 EA	USD 210.0
	Non-Deductible Tax				USD 16.2
22	Line 23, 4" Square bar corkscrew blade o	06/30/2019	5 EA	43.00 EA	USD 215.0
	Non-Deductible Tax				USD 16.6
23	Line 24, 5" square bar corkscrew blade o	06/30/2019	5 EA	46.00 EA	USD 230.0
	Non-Deductible Tax				USD 17.8
24	Line 25, 6" square bar corkscrew blade o	06/30/2019	5 EA	54.00 EA	USD 270.0
	Non-Deductible Tax				USD 20.9
25	Line 26, 7" square bar corkscrew blade o	06/30/2019	5 EA	59.00 EA	USD 295.0
	Non-Deductible Tax				USD 22.8
26	Line 27, 8" square bar corkscrew blade o	06/30/2019	5 EA	65.00 EA	USD 325.0
	Non-Deductible Tax				USD 25.1
27	Line 28, 10" square bar corkscrew blade	06/30/2019	5 EA	100.00 EA	USD 500.0
	Non-Deductible Tax				USD 38.7
28 The Tern	ns and Conditions of this Purchase Order are available at h	nttp://www.sandiego.go	ov/purchasing/vendor	QEE I A	ST DAGE
	IMPORTANT!				NST PAGE TOTAL
To ensur directed t	IMPORTANT!  The prompt payments, PO # must appear on all ships to Billing Contact person at Bill-To address listed ab	nents and invoices;	all invoices must be	FOR	



PO No. 4500103806

Date: 08/22/2018

Page 4 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro		Extend	led Price
	Line 29, 12" square bar corkscrew blade	06/30/2019	5 EA	114.00	EA	USD	570.00
	Non-Deductible Tax					USD	44.18
29	Line 30, 2" auger blade only for use wit	06/30/2019	5 EA	21.68	EA	USD	108.40
	Non-Deductible Tax					USD	8.40
30	Line 31, 3" auger blade only for use wit	06/30/2019	5 EA	22.00	EA	USD	110.00
	Non-Deductible Tax					USD	8.53
31	Line 32, 4" auger blade only for use wit	06/30/2019	5 EA	31.00	EA	USD	155.00
	Non-Deductible Tax					USD	12.02
32	Line 33, 5" auger blade only for use wit	06/30/2019	5 EA	45.00	EA	USD	225.00
	Non-Deductible Tax					USD	17.44
33	Line 34, 6" auger blade only for use wit	06/30/2019	5 EA	59.00	EA	USD	295.00
	Non-Deductible Tax					USD	22.87
34	Line 35, 8" auger blade only for use wit	06/30/2019	5 EA	78.00	EA	USD	390.00
	Non-Deductible Tax					USD	30.23
35	Line 36, 10" auger blade only for use wi	06/30/2019	5 EA	99.00	EA	USD	495.00
	Non-Deductible Tax					USD	38.37
36	Line 37, 6" turn type porcupine for use	06/30/2019	5 EA	98.00	EA	USD	490.00
	Non-Deductible Tax					USD	37.98
37	Line 38, 8" turn type porcupine for use	06/30/2019	5 EA	124.00	EA	USD	620.00
	Non-Deductible Tax					USD	48.05
38	Line 39, 10" turn type porcupine for us	06/30/2019	5 EA	165.00	EA	USD	825.00
The Term	ns and Conditions of this Purchase Order are available at h	nttp://www.sandiego.g	ov/purchasing/vendor	SEE	LA	ST F	PAGE
	IMPORTANT!					TOT	



PO No. 4500103806

**Date:** 08/22/2018

Page 5 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	Non-Deductible Tax				USD 63.94
39	Line 40, 12" turn type porcupine for use	06/30/2019	5 EA	207.00 EA	USD 1,035.00
	Non-Deductible Tax				USD 80.22
40	Line 41, 15" turn type porcupine for use	06/30/2019	5 EA	223.00 EA	USD 1,115.00
	Non-Deductible Tax				USD 86.42
41	Line 42, 4" Super dudy concave root saw	06/30/2019	5 EA	60.23 EA	USD 301.15
	Non-Deductible Tax				USD 23.34
42	Line 43, 6" Super dudy concave root saw	06/30/2019	5 EA	78.95 EA	USD 394.75
	Non-Deductible Tax				USD 30.59
43	Line 44, 8" Super dudy concave root saw	06/30/2019	5 EA	80.13 EA	USD 400.65
	Non-Deductible Tax				USD 31.05
44	Line 45, 10" Super dudy concave root saw	06/30/2019	5 EA	89.47 EA	USD 447.35
	Non-Deductible Tax				USD 34.67
45	Line 46, 12" Super dudy concave root saw	06/30/2019	5 EA	100.00 EA	USD 500.00
	Non-Deductible Tax				USD 38.75
46	Line 47, 15" Super dudy concave root saw	06/30/2019	5 EA	119.00 EA	USD 595.00
	Non-Deductible Tax				USD 46.12
47	Line 48, 3" Bladea ssembly chuch with 5/	06/30/2019	5 EA	48.00 EA	USD 240.00
	Non-Deductible Tax				USD 18.60
48	Line 49, 3" Blace assembly check with .3	06/30/2019	5 EA	51.00 EA	USD 255.00
	Non-Deductible Tax				USD 19.77
The Tern	ns and Conditions of this Purchase Order are available a	t http://www.sandiego.go	v/purchasing/vendor	SEE LA	ST PAGE
To ensur	IMPORTANT! re prompt payments, PO # must appear on all shi to Billing Contact person at Bill-To address listed a	pments and invoices;	all invoices must be		TOTAL
ev 04 - 16	to billing Contact person at bill-10 address listed a	IDO V G			



PO No. 4500103806

**Date:** 08/22/2018

Page 6 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uo Conv Factor	m Extend	ded Price
49	Line 50, 6" single fishing blade manafac	06/30/2019	5 EA	8.87 EA	USD	44.35
	Non-Deductible Tax				USD	3.43
50	Line 51, 8" single fishing blade manafa	06/30/2019	5 EA	10.50 EA	USD	52.50
	Non-Deductible Tax				USD	4.07
51	Line 52, 10" single fishing blade manaf	06/30/2019	5 EA	11.31 EA	USD	56.55
	Non-Deductible Tax				USD	4.38
52	Line 53, 12" single fishing blade manaf	06/30/2019	5 EA	11.65 EA	USD	58.25
	Non-Deductible Tax				USD	4.52
53	Line 54, 15" single fishing blade manaf	06/30/2019	5 EA	12.24 EA	USD	61.20
	Non-Deductible Tax				USD	4.75
54	Line 55, adaptor coupling, .375 L.H. coa	06/30/2019	5 EA	8.84 EA	USD	44.20
	Non-Deductible Tax				USD	3.42
55	Line 56, 5/16" spud for use with EZ chuc	06/30/2019	5 EA	12.02 EA	USD	60.10
	Non-Deductible Tax				USD	4.66
56	Line 57, .375" spud for use with EZ chuc	06/30/2019	5 EA	11.88 EA	USD	59.40
	Non-Deductible Tax				USD	4.60
57	Line 58, 5/16" root saw coupling for ass	06/30/2019	5 EA	11.88 EA	USD	59.40
	Non-Deductible Tax				USD	4.60
58	Line 59, EZ chuck with hub and stem for	06/30/2019	5 EA	24.10 EA	USD	120.50
	Non-Deductible Tax				USD	9.34
59 The Term	ns and Conditions of this Purchase Order are available at I	nttp://www.sandiego.g	ov/purchasing/vendor	OFF !	A OT F	
	IMPORTANT!			SEE L	ASI I	
Fo ensur directed t	e prompt payments, PO # must appear on all shipr to Billing Contact person at Bill-To address listed ab	ments and invoices; ove	all invoices must be			~L



PO No. 4500103806

Date: 08/22/2018

Page 7 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Exten	ded Price
	Line 60, EZ chuck hum and stem for aguer	06/30/2019	5 EA	24.10	EA	USD	120.50
	Non-Deductible Tax					USD	9.34
60	Line 61, EZ chuch with hub and stem for	06/30/2019	5 EA	67.00	EA	USD	335.00
	Non-Deductible Tax					USD	25.97
61	Line 62, 5/16" "T" handle allen wrench	06/30/2019	5 EA	18.00	EA	USD	90.00
	Non-Deductible Tax					USD	6.98
62	Line 63, .375 I.D. Right hand fine threa	06/30/2019	5 EA	2.42	EA	USD	12.10
	Non-Deductible Tax					USD	0.94
63	Line 64, .375 I.D. Left hand coarse thre	06/30/2019	5 EA	2.42	EA	USD	12.10
	Non-Deductible Tax					USD	0.94
64	Line 65, 20 foot blue light weight rod g	06/30/2019	5 EA	468.00	EA	USD	2,340.00
	Non-Deductible Tax					USD	181.35
65	Line 66, 7 foot blue light weight rod gu	06/30/2019	5 EA	282.00	EA	USD	1,410.00
	Non-Deductible Tax					USD	109.28
66	Line 67, adaptor sleeve, metal, for use	06/30/2019	5 EA	31.94	EA	USD	159.70
	Non-Deductible Tax					USD	12.38
67	Line 68, 20 foot heavy duty rod guide ho	06/30/2019	5 EA	357.00	EA	USD	1,785.00
	Non-Deductible Tax					USD	138.34
68	Line 69, 7 foot heavy duty rod guide hos	06/30/2019	1 EA	5.40	EA	USD	5.40
	Non-Deductible Tax					USD	0.42
69	Line 70, 6' x 12" bucket, handi clam, wi	06/30/2019	1 EA	109.00	EA	USD	109.00
The Term	ns and Conditions of this Purchase Order are available at	http://www.sandiego.g	ov/purchasing/vendor	SEE	LA	ST F	PAGE
	IMPORTANT!  e prompt payments, PO # must appear on all ship to Billing Contact person at Bill-To address listed all					TOT	



PO No. 4500103806

**Date:** 08/22/2018

Page 8 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pro		Exte	nded Price
	Non-Deductible Tax					USD	8.45
70	Line 71, 7' X 12" Bucket, Handi clam, wi	06/30/2019	1 EA	121.00	EA	USD	121.00
	Non-Deductible Tax					USD	9.38
71	Line 72, 8' X 12" Bucket, Handi clam, w	06/30/2019	1 EA	139.00	EA	USD	139.00
	Non-Deductible Tax					USD	10.78
72	Line 73, 9' X 12" Bucket, Handi clam, w	06/30/2019	1 EA	168.00	EA	USD	168.00
	Non-Deductible Tax					USD	13.02
73	Line 74, 10' X 12" Bucket, Handi clam, w	06/30/2019	1 EA	168.00	EA	USD	168.00
	Non-Deductible Tax					USD	13.02
74	Line 75, 12' X 12" Bucket, Handi calm, w	06/30/2019	1 EA	197.00	EA	USD	197.00
	Non-Deductible Tax					USD	15.27
75	Line 76, 14' X 12" Bucket, Handi clam,	06/30/2019	1 EA	225.00	EA	USD	225.00
	Non-Deductible Tax					USD	17.44
76	Line 77, 16' X 12" Bucket, Handi calm, w	06/30/2019	1 EA	254.00	EA	USD	254.00
	Non-Deductible Tax					USD	19.69
77	Line 78, 18' X 12" Bucket, Handi clam, w	06/30/2019	1 EA	278.00	EA	USD	278.00
	Non-Deductible Tax					USD	21.55
78	Line 79, 20' X 12"Bucket, Handi clam, wi	06/30/2019	1 EA	308.00	EA	USD	308.00
	Non-Deductible Tax					USD	23.87
79	Line 80, 25' X 12"Bucket, Handi clam, wi	06/30/2019	1 EA	369.00	EA	USD	369.00
	Non-Deductible Tax					USD	28.60
The Term	ns and Conditions of this Purchase Order are available at	http://www.sandiego.go	v/purchasing/vendor	SEE	LA	ST	PAGE
<b>T</b> -	IMPORTANT!		-U tarret	FC	R	TO	ΓAL
To ensur directed t	e prompt payments, PO # must appear on all ship to <i>Billing</i> Contact person at <i>Bill-To</i> address listed a	pments and invoices; above	all invoices must be				



PO No. 4500103806

**Date:** 08/22/2018

Page 9 of 10

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extend	ed Price
80	Line 81, 8 foot to 24 foot fiber glass t	06/30/2019	1 EA	152.00 EA	USD	152.00
	Non-Deductible Tax				USD	11.78
81	Line 82, 24 foot fiberglass pole set wit	06/30/2019	1 EA	168.00 EA	USD	168.00
	Non-Deductible Tax				USD	13.02
82	Line 83, Steel hourse shoe grabber with	06/30/2019	5 EA	70.00 EA	USD	350.00
	Non-Deductible Tax				USD	27.13
83	Line 84, 3 pronged steel bragger with co	06/30/2019	5 EA	71.00 EA	USD	355.00
	Non-Deductible Tax				USD	27.52
84	Line 85, 4" debris scooper with coupling	06/30/2019	5 EA	53.00 EA	USD	265.00
	Non-Deductible Tax				USD	20.54
85	Line 86, 6" debris scooper with couplin	06/30/2019	5 EA	55.00 EA	USD	275.00
	Non-Deductible Tax				USD	21.32
86	Line 87, 8" debris scooper with coupling	06/30/2019	5 EA	58.00 EA	USD	290.00
	Non-Deductible Tax				USD	22.48
87	Line 88, 10" debris scooper with couplin	06/30/2019	5 EA	63.00 EA	USD	315.00
	Non-Deductible Tax				USD	24.42
88	Line 89, grease log chopper with couplin	06/30/2019	5 EA	71.00 EA	USD	355.00
	Non-Deductible Tax				USD	27.52
89	Line 90, catch basin spoon attachment 9"	06/30/2019	5 EA	71.00 EA	USD	355.00
	Non-Deductible Tax				USD	27.52
90 The Term	ns and Conditions of this Purchase Order are available	at http://www.sandiego.go	pv/purchasing/vendor	SEE LA	STF	AGF
	IMPORTANT!			FOR		
Fo ensur directed t	te prompt payments, PO # must appear on all sh to <i>Billing</i> Contact person at <i>Bill-To</i> address listed	ipments and invoices; above	all invoices must be			



PO No. 4500103806

Date: 08/22/2018 Page 10 of 10

	THE VIOLENCE OF THE VIOLENCE O						
Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc U Conv Factor		Exter	nded Price
	Line 91, 6" Heavy 20 guage steel san tra	06/30/2019	5 EA	37.00 E	A	USD	185.00
	Non-Deductible Tax					USD	14.34
91	Line 92, 8" Heavy 20 guage steel san tra	06/30/2019	5 EA	42.00 E	A	USD	210.00
	Non-Deductible Tax					USD	16.28
92	Line 93, 10" Heavy 20 guage steel san tr	06/30/2019	5 EA	46.00 E	A	USD	230.00
	Non-Deductible Tax					USD	17.83
93	Line 94, 12" Heavy 20 guage steel san tr	06/30/2019	1 EA	62.00 E	A	USD	62.00
	Non-Deductible Tax					USD	4.81
94	Line 95, 15" Heavy 20 guage steel san tr	06/30/2019	1 EA	116.00 E	А	USD	116.00
	Non-Deductible Tax					USD	8.99
95	Line 96, 18" Heavy 20 guage steel san tr	06/30/2019	1 EA	130.00 E	A	USD	130.00
	Non-Deductible Tax					USD	10.08
96	FREIGHT	06/30/2019	5,000 EA	1.00 EA	A	USD	5,000.00
	FY19 FREIGHT/SHIPPING						
Notes:	PO released NTE purchase order value or as may be modified Update Insurance and Business Tax Certificate as required.	by the City.					
The Tern	 ns and Conditions of this Purchase Order are available at h	ttp://www.sandiego.go	ov/purchasing/vendor	Line Item To	tal \$	<u> </u>	37,122.60
	IMPORTANT!			Tax	\$		2,489.78
To ensur directed	re prompt payments, PO # must appear on all shipm to <i>Billing</i> Contact person at <i>Bill-To</i> address listed abo	nents and invoices; ove	all invoices must be	PO Total	\$	;	39,612.38